### KERALA STATE SCHOOLS ${\color{red} {\bf BALL~BADMINTON}}$ TEAM SELECTION PERFORMA

FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT						VENUE					
DATE	3					CATEGORY					
SL NO	CHEST NO/NAME	POSITI	PERFORM ANCE(PRE VIOUS/		ROFICIENC	Y WHILE	PLAYING	PLAYING ABILITY	TOTAL MARKS	REMAR	
SL NO	CHEST NO/NAME	ON	CURRENT) 10MARKS	SERVICE 10	SHUTTING 10	SMASH 10	RECEIVING 10	50MARKS	100	KS	
1											
2											
3											
4											
5											
6											
7											
8											
9											
10											
11											
12											
13											
14											
15											
16											
17											
18											
19											
20											
			Signa	ture & Na	me of Sele	ctors					
SL NO		1	NAME					SIGNAT	TURE		
1											
2											
3											

### KERALA STATE SCHOOLS ${f BASE}$ ${f BALL}$ TEAM SELECTION PERFORMA

DAT	E					CATE	GORY.					
			MANCE			ENCY WI	HILE PLA	YING 60	MARKS	PLAYIN		
SL NO	CHEST NO/NAME	PLAYING POSITION	(PREVI OUS/ CURRE NT)10M ARKS	ING 10	THROW ING 10	FIELDIN G 10 MARKS	BATTIN	NG 10	CATCH ER 10 MARKS	30	TOTAL MARKS 100	REMA RKS
1												
2												
3												
4												
5												
6												
7												
8												
9												
10												
11												
12												
13												
14												
15												
16												
17												
18												
19												
20												
			Signat	ure & N	Name of	Selector	rs	-		-		
SL NO		NAME	]						SIGNA	TURE		
1												
2												
3												

# KERALA STATE SCHOOLS **BASKET BALL** TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME	OF DISTRICT		ZENUE						
DATE.					CATE	GORY			
SL NO	CHEST NO/NAME	ACHIEVE MENT CURRENT/		ROFICIENCY	WHILE I		PLAYING ABILITY (50	TOTAL MARKS	REMAR
3L NO	CHEST NO/NAME	PREVIOUS (10 MARKS)	BALL HANDLING (10)	SHOOTING (10)	REBOU NDING (10)	FOOTWOR K (10)	MARKS)	100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									
		Sig	nature & N	Name of Se	lectors	-			•
SL NO		NAME					SIGNAT	URE	
1									
2									

### KERALA STATE SCHOOLS **CRICKET** TEAM SELECTION PERFORMA

					RICT – ED					
	E OF DISTRICT									
DATE		·····	Ì			CATE	GORY			
SL NO	CHEST NO/NAME	PLAYER	PERFORM ANCE(PRE VIOUS/	SKILL P	ROFICIENC	Y WHILE		PLAYING ABILITY	TOTAL MARKS	REMAR
		SPECIFIC	CURRENT) 10MARKS	BATTING 10	BOWLING 10	FIELDI NG 10	WICKET KEEPING 10	50MARKS	100	KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
19										
20										
•		•	Signatı	ıre & Nan	ne of Select	tors				
SL NO		N.	AME					SIGNAT	URE	
1										
2										
2										

# KERALA STATE SCHOOLS **FOOT BALL** TEAM SELECTION PERFORMA FINAL - ZONAL – DISTRICT – EDN.DISTRICT

NAME	E OF DISTRICT					VENU	E			
DATE				••••		CATE	GORY			
			PERFORM		ROFICIENC	Y WHILE	PLAYING			
SL NO	CHEST NO/NAME	PLAYERS SPECIFIC		KICKING WITH INSIDE OF	KICKING WITH INSIDE OF THE INSTEP (LOFTED KICK) 10	KICKIN G WITH INSTEP 10	HEADING & THROWING 10	PLAYING ABILITY 50MARKS	TOTAL MARKS 100	REMAR KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
		-	Signatu	ıre & Nan	ne of Select	tors	1			
SL NO		N	AME					SIGNAT	'URE	
1										
2										
1 _ 1							I			

### KERALA STATE SCHOOLS ${f FOOT~BALL}$ TEAM SELECTION PERFORMA

NAME	E OF DISTRICT		ZONAL							
DATE						CATE	GORY			
			GC	AL K	EEPER	1				
			PERFORM	PLA	SKILL PROFICIENCY W PLAYING/TRAILS (40 M				TOTAL	
SL NO	CHEST NO/NAME	PLAYERS SPECIFIC		DIVING	POSITIO NING 10	TTANDI	BALLCLEA RENCE 10	PLAYING ABILITY 50MARKS	MARKS 100	REMAR KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
			Signatu	re & Nam	e of Selec	ctors				
SL NO		NA	AME					SIGNAT	TURE	
1										
2										
3										

# KERALA STATE SCHOOLS $\underline{\mathbf{HAND}}$ $\underline{\mathbf{BALL}}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAM	NAME OF DISTRICT				VENUE				
DATE	3			•	CATE	GORY			
SL NO	CHEST NO/NAME	PERFORM ANCE(PRE VIOUS/	SKILL F	ROFICIENC			PLAYING ABILITY	TOTAL MARKS	REMAR
SE NO	GHEST NO/MINE	CURRENT) 10MARKS	DRIBBLI NG 10	SHOOTING 10	PASSIN G 10	FAKING 10	50MARKS	100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									
		Siş	gnature &	Name of S	Selectors	•		•	•
SL NO		NAME					SIGNAT	URE	
1									
2									
,									

### KERALA STATE SCHOOLS **HAND BALL** TEAM SELECTION PERFORMA

	FI.	NAL - ZO	NAL – DISTRICI	– EDN.DISTRICT	•			
NAN	ME OF DISTRICT		•••••	VENUE				
DAT	E	CATEGORY						
	GOAL KEEPER							
			CIVILL DDOELCIEM	CV WILL E DI AVINC				

GOAL KEEFEK									
GL NO	GUEST NO MANUE	HIGH SPEED		ROFICIENCY	PLAYING	- PLAYING   ABILITY	TOTAL	REMAR	
SL NO	CHEST NO/NAME	REACTION 10	COORDI NATION 10	AGILITY 10	FLEXIB ILITY 10	ACHIEVE MENT 10	50MARKS	MARKS 100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									

SL NO	NAME	SIGNATURE
1		
2		
3		

## KERALA STATE SCHOOLS **HOCKEY** TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME	OF DISTRICT			i	VENU	E					
DATE					CATE	GORY					
SL NO	CHECT NO NIA ME	ACHIEVE MENT (PREVIOU	SKILL P	ROFICIENC	Y WHILE	PLAYING	PLAYING ABILITY	TOTAL	REMAR		
SL NO	CHEST NO/NAME	S CURRENT) 10	DRIBBLI NG 10	HITTING 10	STOPPI NG 10	PUSH 10	50MARKS	MARKS 100	KS		
1											
2											
3											
4											
5											
6											
7											
8											
9											
10											
11											
12											
13											
14											
15											
16											
17											
18											
19											
20											
		Si	gnature &	Name of S	Selectors			-			
SL NO		NAME					SIGNAT	TURE			
1											
2											
3											

## KERALA STATE SCHOOLS $\underline{HOCKEY}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT		VENUE
DATE	•••••	CATEGORY

### **GOAL KEEPER**

		ACHIEVE	SKILL P	ROFICIENC	Y WHILE	PLAYING	TOTAL	REMAR	
SL NO	CHEST NO/NAME	MENT 10	SLIDING 10	KICKING 10	DIVING 10	STOPPING BY HAND 10	ABILITY 50MARKS	MARKS 100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									

SL NO	NAME	SIGNATURE
1		
2		
3		

### KERALA STATE SCHOOLS ${\color{red} {\bf KABADDI}}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT							Е			
DATE						CATE	GORY			
			ANCE(PRE	SKILL PR	OFICIENCY					
SL NO CHEST NO/I	CHEST NO/NAME	PLAYE RS SPECIF IC			CHAIN HOLDS 10	DUAL HOLDS (10	SUPPORT/ COUNTER SKILLS (10 MARKS)	PLAYING ABILITY 50MARKS	TOTAL MARKS 100	REMAR KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
19										
20										
			Signat	ure & Na	me of Sele	ctors				
SL NO		ľ	NAME					SIGNAT	URE	
1										
2										
3										

# KERALA STATE SCHOOLS **KHO – KHO** TEAM SELECTION PERFORMA FINAL - ZONAL – DISTRICT – EDN.DISTRICT

NAMI	E OF DISTRICT					VENU	E				
DATE						CATE	EGORY				
ar wo		PLAYE RS	ANCEPRE		ILL PROFIC PLAYING/TI			PLAYING	TOTAL	REMAR	
SL NO	CHEST NO/NAME	SPECIF IC	VIOUS/ CURRENT) 10M	CHASING 10M	DEFENSIV E10 M	COUNT ER 10 M	COMBINAT ION 10 M	ABILITY 50MARKS	MARKS 100	KS	
1											
2											
3											
4											
5											
6											
7											
8											
9											
10											
11											
12											
13											
14											
15											
16											
17											
18											
19											
20											
			Signa	ture & Na	me of Sele	ctors	ı	l			
SL NO		I	NAME					SIGNAT	URE		
1											
2											

## KERALA STATE SCHOOLS **NET BALL** TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT	VENUE
DATE	CATEGORY

#### GOAL SHOOTER/ GOAL KEEPER

GOAL SHOOTER/ GOAL KEEPER										
GL NO	CALEGE NO MANG	PERFORM ANCE(PRE	ICE(PRE						TOTAL	REMAR
SL NO	CHEST NO/NAME	VIOUS/ CURRENT) 10M	FOOTWORK 10	PASSING ABILITY 10	SHOOTING 10	RUNNING SHOT 10	OFFENCIVE REBOUND 10	ABILITY 40MARKS	MARKS 100	KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
19										
20										

SL NO	NAME	SIGNATURE
1		
2		
3		

### KERALA STATE SCHOOLS ${f NET~BALL}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

	E OF DISTRICT									
DATI	E									
		GOAL I			OAL A ENCY WHILE 50 MARK	E PLAYING				
SL NO	CHEST NO/NAME	NCE- PREVIOUS/ CURRENT 10M	FOOT WORK 10 M	PASSING ABILITY 10 M	MAN TO MAN DEFENCE 10 M	INTERSEP TION 10 M	DEFENCE REBOUND 10 M	PLAYING ABILITY 40MARKS	TOTAL MARKS 100	REMAR KS
1										
2										
3										
4										
5										
6										
7										
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
19										
20										
0.7			Signatu	ıre & Nar	ne of Selec	ctors				
SL NO		NA	ME							
1										

### KERALA STATE SCHOOLS ${\bf \underline{NET\ BALL}}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT	VENUE
DATE	CATEGORY

#### WING ATTACK / CENTER / WING DEFENCE

		PERFORMA NCE(PREVIO	SKILL PROFICIENCY WHILE PLAYING/TRAILS 50 M				PLAYING	TOTAL	
SL NO	CHEST NO/NAME	US/ CURRENT) 10M	FOOTWORK 10 M	PASSING ABILITY 20 M	CENTER PASS (PASSING / RECEIVING) 10 M	INTERSEPT ION 10 M	ABILITY	MARKS 100	REMAR KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									

SL NO	NAME		
1			
2			
3			

# KERALA STATE SCHOOLS $\underline{SOFT~BALL}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

JE
ندر

DAT	E		• • • • • • • • • • • • • • • • • • • •		••••		CATE	GORY.					
				PERFOR MANCE (PREVI	SKILL	PROFICI	ENCY WI		YING 60		PLAYIN G	TOTAI	
SL NO	CHEST NO/NAME POSITION		OUS/ CURRE NT)10M ARKS	CATCH ING 10	ING 10	FIELDIN G 10 MARKS	BATTIN	MADIZO	CATCH ER 10 MARKS	ABILITY 30	MARKS 100	REMA RKS	
1													
2													
3													
4													
5													
6													
7													
8													
9													
10													
11													
12													
13													
14													
15													
16													
17													
18													
19													
20													
				Signati	ure & N	lame of	Selector	rs					
SL NO		I	NAME	ı						SIGNA	TURE		
1													
2													

## KERALA STATE SCHOOLS **TENNIKOITE** TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

	OF DISTRICT								
DATE					CATEGO	DRY			
CI NO	CHEST NO/NAME	ACHIEVE MENT (PREVIOU	1 1 1 1 1 1 1 1 1	SKILL PER AYING TOT			PLAYING	TOTAL	REMA
SL NO		S CURRENT) 10	SERVICE 15M	RECEIVIN G15 M	PLACING 15 M	SHOT 15 M	ABILITY 50MARKS	MARKS 100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									
		5	Signature &	Name of S	Selectors				1
SL NO		NAMI	Ξ				SIGNAT	TURE	
1									
2									
3									

### KERALA STATE $\mathbf{THROW}$ $\mathbf{BALL}$ TEAM SELECTION PERFORMA

FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAM	E OF DISTRICT				VENU	E			
DATE	3				CATE	GORY			
SL NO	CHEST NO/NAME	ACHIEVE MENT CURRENT/	SKILL PI	ROFICIENCY	WHILE I	PLAYING	PLAYING ABILITY (30	TOTAL MARKS	REMAR
3L NO	CHEST NO/NAME	PREVIOUS (10 MARKS)	SERVICE 15 MARKS	RECEIVING 15 MARKS	THROWI NG 15 MARKS	ATTACKING 15 MARKS		100	KS
1									
2									
3									
4									
5									
6									
7									
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									
		Sig	nature & N	Name of Se	lectors				
SL NO				SIGNAT	URE				
1									
2									
3									

# KERALA STATE SCHOOLS **TUG OF WAR** TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

	E OF DISTRICT				VENUE CATEGOR			
SL NO	CHEST NO NAME OF PULLER	WEIGHT 20 MARKS	PERFORMANCE 20 MARKS	POSITION 20 MARKS	STYLE 20 MARKS	STAMINA 20 MARKS	TOTAL MARKS	REMAR KS
1							100	
2								
3								
4								
5								
6								
7								
8								
9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20			Signature & Name	o of Salactors				
SL			NAME	e of Selectors		SIG	SNATURE	
NO 1								
2								
3								

## KERALA STATE SCHOOLS $\underline{VOLLEY~BALL}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT	VENUE
DATE	CATEGORY

#### ATTACKERS/BLOCKERS/UNIVERSAL

ATTACKERS/BLOCKERS/UNIVERSAL											
		ACHIEVE MENT CURRENT/	SKILL PR	SKILL PROFICIENCY WHILE PLAYING				PLAYING ABILITY	TOTAL	REMAR	
SL NO	CHEST NO/NAME	PREVIOUS (10 MARKS)	SERVICE 10	RECEPTI ON 10	SET/ ATTACK 10	BLOCK 10	DEFENS E 10	(50 MARKS)	MARKS 100	KS	
1											
2											
3											
4											
5											
6											
7											
8											
9											
10											
11											
12											
13											
14											
15											
16											
17											
18											
19											
20											

SL NO	NAME	SIGNATURE
1		
2		
3		

# KERALA STATE SCHOOLS $\underline{VOLLEY~BALL}$ TEAM SELECTION PERFORMA FINAL - ZONAL - DISTRICT - EDN.DISTRICT

NAME OF DISTRICT	VENUE
DATE	CATEGORY

#### **SETTERS**

	SETTERS											
SL NO	CHEST NO/NAME	CURRENT/	SKILL PRO	OFICIENC	Y WHILE	PLAYING		PLAYING ABILITY	REMAR			
SL NO	CHEST NO/NAME	PREVIOUS (10 MARKS)	SERVICE 10	SET 10	ATTACK 10	BLOCK 10	DEFENS E 10	(40 MARKS)	MARKS 100	KS		
1												
2												
3												
4												
5												
6												
7												
8												
9												
10												
11												
12												
13												
14												
15												

SL NO	NAME	SIGNATURE
1		
2		
3		

### KERALA STATE SCHOOLS **VOLLEY BALL** TEAM SELECTION PERFORMA

	FINA	L - ZONAL	– DISTR	ICT – EI	ON.DISTRI	CT		
NAME	OF DISTRICT				VENUE			• • • • • • • • • • • • • • • • • • • •
DATE.					CATEGO	RY		
			LEBEI	RO				
a. 110		ACHIEVE MENT CURRENT	SKILL PR	ROFICIENO PLAYINO	CY WHILE	PLAYING ABILITY	TOTAL	REMAR
SL NO	CHEST NO/NAME	/PREVIOU S (10 MARKS)	RECEPTION 20	SET 10	DEFENSE 20	(40 MARKS)	MARKS 100	KS
1								
2								
3								
4								
5								
6								
7								
8								
9								
10								
11								
12								
13								
14								
15								
		Signatu	re & Name	of Selec	tors			
SL NO		NAME						
1								
2								

3

### ${\tt KERALA~STATE~SCHOOLS~TEAM~FINAL~SCORE~SHEET~SELECTION~PERFORMA}$

DATI	-			RY				
			SELECTO	R				
SL NO	CHEST NO/NAME	I 100 Marks	II 100 Marks	III 100 Marks	TOTAL 300 Marks	RANK	REMARKS	
1								
2								
3								
4								
5								
6								
7								
8								
9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20								
		Signature 8	Name of S	electors				
SL NO	N	AME						
1								
2								
3								